+B1843+098

sideLobHght [db] coma Parameter

main bm efficiency

bm efficiency

0.20

0.15

0.05

0.00

—-20

o

©
0

©
)

©
~

©
)

©
o

o

©
0

©
)

©
~

0.2

0.0

Olaugl4 to 3Taugl4 all freq

56 pnts. Coma

Jr
+E
4+
g R
Jr
Jr
1 $\ ft 1
0 5 10 15 20
Sidelobe Height
E 8500. 8800. 9200. Mhz FIG 65
- =+ ]
0 5‘ | | | | W‘O W‘5 20
Eta MainBm
- gErs s 3 F F o+ ]
0 5‘ | | | | W‘O W‘5 20
Eta (MainBm + 1st Sidelobe)
- giit 1 FF o2 e
0 5‘ W‘O W‘5 20

zda



+B1843+098

sideLobHght [db] coma Parameter

main bm efficiency

bm efficiency

0.20

0.15

0.05

0.00

—-20

o

o
0

o
)

o
~

o
)

o
o

o

o
0

o
)

o
~

0.2

0.0

OTaugl4 to 31augl4 8500 Mhz 14 pnts. Coma

- + _
- ++ + 1
B ++ + ]
I 4 + + |
- + ]
L + _
0 10 15 20

zda

Sidelobe Height

- FIG ]
- Gt _
0 10 15 20

zda

Eta MainBm

- wt+ 4+ o+ Py .
0 10 15 20

zda

Eta (MainBm + 1st Sidelobe)

— e T -
0 10 15 20

zda



+B1843+098

sideLobHght [db] coma Parameter

main bm efficiency

bm efficiency

0.20

0.15

0.05

0.00

—-20

o

o
0

o
)

o
~

o
)

o
o

o

o
0

o
)

o
~

0.2

0.0

OTaugl4 to 31augl4 8300 Mhz 14 pnts. Coma

- + ]
- L+t ’ N §
- iy ot .
- Jr —
- + 4 ]
0 10 15 20

zda

Sidelobe Height

- FIG 8 ]
- + _
- Tt e+ F 3
L + ]
0 10 15 20

zda

Eta MainBm

- R T .
0 10 15 20

zda

Eta (MainBm + 1st Sidelobe)

— + + -
L AHE + + 4+ + + _
0 10 15 20

zda



+B1843+098

sideLobHght [db] coma Parameter

main bm efficiency

bm efficiency

0.20

0.15

0.05

0.00

—-20

o

©
0

©
)

©
~

©
)

©
o

o

©
0

©
)

©
~

0.2

0.0

OTaugl4 to 31augl4 9000 Mhz 14 pnts.

Coma

H +
Jr
+ +
+p + o+
Jr
1 \+ 1
0 5 10 15 20
zda
Sidelobe Height
- FIG ]
- + ]
- + + + .
C " + + T -
- + ]
0 5 10 15 20
zda
Eta MainBm
- Ht A+ o+t 4 + 4 .
0 5 10 15 20
zda
Eta (MainBm + 1st Sidelobe)
— + + + 4 ]
B BT+ 4 ]
0 5 10 15 20

zda



+B1843+098

sideLobHght [db] coma Parameter

main bm efficiency

bm efficiency

0.20

0.15

0.05

0.00

—-20

o

©
0

©
)

©
~

©
)

©
o

o

©
0

©
)

©
~

0.2

0.0

OTaugl4 to 31augl4 9200 Mhz 14 pnts.

Coma

++ N
1 +
o+
T + + X
Jr
1 + 1
0 10 15 20
za
Sidelobe Height
- FIG 10 4
- LN -
0 10 15 20
za
Eta MainBm
C o+ + o+ TS ]
0 10 15 20
za
Eta (MainBm + 1st Sidelobe)
- T T E
0 10 15 20

zda



